17.1 An erection results from:

A) the release of nitric oxide (NO) near the arteries in the penis by the parasympathetic nervous system. 

B) NO-induced dilation of the arteries that bring blood into the penis.

C) swelling of the corpus cavernosum.

D) swelling-induced blockage of the veins that take blood out of the penis.

E) all of the above. 

17.2. The first evidence that chromosomes are the carriers of hereditary traits came from correlating:


A) eye color and chromosome 1


B) hair color and chromosome 2

 
C) sex and the X and Y chromosomes


D) sickle cell anemia and hemoglobin


E) Lou Gehrig’s disease and AGEs

17.3. Which of the following does NOT lead to chromosomal males?
A) XX


B) XY


C) XXY


D) XXXY


E) XXXXY

17.4. Which of the following is a chromosomal female?

A) XO
B) XXY
C) XXXY
D) XXXXY
E) all of the above

17.5 Trans-sexuals are:
A) people who eat too many trans fatty acids.

B) people who eat foods loaded with trans fats during sex.

C) people who have some characteristics of typical males and some characteristics of typical females.

D) people from Transylvania.

E) all of the above.

17.6 Levi Suydam allowed to vote in a local election in 1843 because ____________.

A) Levi had a penis

B) Levi had testicles

C) Dr. Barry did not know that Levi had a vagina

D) Dr. Barry did not know that Levi menstruated

E) all of the above

17.7. Which of the following organs typically do not contain a Y chromosome?

A) prostate gland
B) seminal vesicles 
C) liver
D) testes
E) ovaries

17.8. Differentiating males and females based on their external genitalia is a classification system based on:

A) phenotypic sex

B) gonadal sex

C) genetic sex

D) chromosomal sex

E)  metabolic sex

17.9. Differentiating males and females based on the presence of testes or ovaries is a classification system based on:

A) phenotypic sex

B) gonadal sex

C) genetic sex

D) chromosomal sex

E)  metabolic sex

17.10 Differentiating males and females based on the presence of XX or XY chromosomes is a classification system based on:

A) phenotypic sex

B) gonadal sex

C) genetic sex

D) chromosomal sex

E)  metabolic sex

17.11 Differentiating males and females based on the abundance of androgens or estrogens is a classification system based on:

A) phenotypic sex

B) gonadal sex

C) genetic sex

D) chromosomal sex

E)  metabolic sex

17.12. Classifying males and females according to whether they have the sry gene is a classification system based on:

A) phenotypic sex

B) gonadal sex

C) genetic sex

D) chromosomal sex

E)  metabolic sex

17.13. Throughout the years, The International Olympic Committee has verified gender by:

A) physical appearance

B) gynecological exams

C) sex chromosome testing

D) SRY gene testing

E) all of the above.

17.14. By using the physical appearance of the athlete’s genitalia while micturiting to determine the sex of the athlete, the International Olympic Committee is being ______________.

A) atavistic
B) modern
C) overly influenced by the urologists
D) silly not to use the available high technology
E) both A and B
17.15. Which of the following does NOT introduce genetic variation into the population?

A sexual intercourse

B) mutation

C) foods rich in vitamin E

D) independent assortment

E) recombination during meiosis

17.16. The gonads differentiate into testes or ovaries in weeks:

A) 24-25
B) 12-13
C) 6-7

D) 2-3

E) 1-2
17.17. The _____________differentiates into the vas deferens.
A) the Mullerian ducts

B) the Wolffian ducts

C) the vas deferensogen 
      D) the urethra

      E) the clitoris

17.18. The Mullerian ducts degenerate in response to 

A) testosterone

B) estrogen

C) Mullerian Inhibiting Factor

D) human chorionic gonadotropin

E) Insulin-like-hormone-3

 17.19. The Wolffian ducts do not deteriorate when exposed to:

A) testosterone

B) Mullerian Inhibiting Factor 

C) estrogen

D) progesterone
E) insulin-like-hormone-3
17.20.___________________strengthens the gubernaculum and___________weakens the suspensory ligament.
A) insulin-like hormone-3, testosterone

B) testosterone, insulin-like-hormone-3

C) testosterone, estrogen

D) estrogen, testosterone

E) human chorionic gonadotropin, progesterone

17.21. The testes descend from the body cavity into the scrotum so that:

A) it easier to walk, but harder to dance.

B) women who are sexually assaulted have an easy target.

C) the sperm are formed at the proper temperature.

D) the penis, which is a third class lever is correctly balanced for sexual intercourse.

E) all of the above.

17.22. In a male, the tissues that would become the labia majora in females fuse to become the
A) penis

B) phallus

C) testes

D) scrotum

E) urethra

17.23 The undifferentiated phallus becomes a___________in males and a ____________in females.
A) clitoris, penis

B) penis, clitoris

C) sperm, egg
D) testis, ovary

E) urethra, urethra

17.24. How do we know that sry causes a fetus to become male?

A) Female mice do not have the sry gene.
B) Male mice do have the sry gene. 

C) If the sry gene is damaged, XY mice become females.

D) If the sry gene is put into XX mice, they become males.

E) All of the above

17.25. Cholesterol is necessary for the synthesis of

A) testosterone

B) estrogen

C) progesterone

D) aldosterone

E)
all of the above

17.26. Someone with adrenal hyperplasia overproduces:
A) cortisol

B) androgens

C) estrogens

D) aldosterol

E) adrenaline

17.27. __________is a catabolic steroid and ____________is an anabolic steroid.

A) cortisol, testosterone

B) estrogen testosterone

C) testosterone, estrogen

D) estrogen, cortisol,

E) testosterone, cortisol.

17.28. In a woman, a follicle producing high amounts of estrogen leads to

A) a pulse of FSH
B) a pulse of LH

C) a pulse of FSH and LH

D) a pulse of progesterone

E) a decrease in progesterone
17.29. In a woman, a large pulse of FSH and LH immediately leads to

A) release of the secondary oocyte (ovulation)
B) the disintegration of the corpus luteum

C) menstruation

D) a decrease in the secretion of estrogen by the corpus luteum
E) a decrease in the production of progesterone by the corpus luteum

17.30. Menstruation is characterized by the:

A) production of a follicle.

B) release of the secondary ooctye.

C) sloughing off of the endometrium.

D) increase in human chorionic gonadotropin production.
E) increase in progesterone synthesis and release.

17.31. An intersexual with male gonads and the external characteristics of a female can be caused by:

A) complete androgen insensitivity syndrome.

B) a deficiency in 5-alpha reductase

C) an inhibition of the conversion of testosterone to dihydrotestosterone.

D) a mutant androgen receptor.

E) all of the above.

17.32. Sonnenshein and Soto discovered that their estrogen-free control cells divided because
A) someone added estrogen to their culture plates

B) their lab was contaminated with natural estrogen

C) an alkylphenol with estrogen-like effects leached out of the plastic tubes

D) they forgot to add progesterone to the cells

E) they forgot to add testosterone to the cells
17.33. The population grows geometrically while the food supply grows arithmetically is known as the


A) Law of Malthus


B) Occum’s Rule


C)  Second Law of Thermodynamics


D) Bear’s Law


E) Starling’s Law

17.34. RU486 prevents birth in part by


A) stimulating the production of LH


B) stimulating the production of progesterone


C) preventing progesterone from binding to the progesterone receptor


D) inhibiting the production of LH and FSH


E) stimulating the production of human chorionic gonadotropin

17.35. Plan B prevents birth by:
A) inhibiting ovulation

B) inhibiting fertilization

C) inhibiting implantation 

D) all of the above

E) aborting the embryo.

17.36. Plan B contains ___________while RU486 contains_________.

A) progestin, a progesterone binding inhibitor.

B) a progesterone binding inhibitor, progestin.

C) Estrogen, progesterone

D) Progesterone, estrogen,

E) Estrogen-B, estrogen-R

17.37. The most widely used, effective, inexpensive and safe method of birth control to prevent pregnancy in a woman having sex with a single partner is:

A) male condoms

B) female condoms

C) IUDs

D) birth control pills

E) birth control patches.

17.38. Approximately _____________percent of woman will become victims of date rape.

A) 0.002

B) 0.02

C) 0.2

D) 2

E) 20

17.39. Date rape is

A) a crime.

B) a crime.

C) a crime.

D) a crime.

E) a crime.

17.40. A woman who consents to having sex cannot give informed consent if she ___________.
A) is drunk
B) is intoxicated
C) is on drugs
D) has been given Rohypnol
E) all of the above 

